STAR PUBLIC SCHOOL
Dear Parents,

Today's assignment ( class 2 nd)

.~ Maths - chapter- 2 ( Addition ) Page
number - 25 & 26

.~ Hindi Grammar - Chapter- 1 Book
Exercise

.~ EVS- Lesson- 2 ( Question &
Answers )

.~ Earth Day Act
Home Assignment -

.~ Maths - Worksheet 2:22 pm W/
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step 1 Add the digits at the hundreds place. H 1 5 '
4
51 -6 g 2 6
50, 526 + 142 = 668, sy 4 : Step 1.
6 ¢ :
Similarly, we can add three 3-digit numbers, HoT o
For example, look at the addition of 243,120 and 325. 2 4
Sum of digits at the ones place=3+0+5=8 L Step 2
- 0
Sum of digits at the tens place=4+24+2=8
. +
Sum of digits at the hundreds place=2 + 1+ 3= ¢ 3‘ 2‘\5
50, 243 + 120 + 325 = 688. 6 8 3
o e
G Find the sum of the given numbers. Cw
(a) H T O (b) H T o () H T o Step :
6 2 7 6 1 4 4 6 7
1 3 1 2 8 5 t 3 0 2
LU | | Simila
- carry
(d) H T o (€) H T o (f) H T o
1 2 4 2 36 L
6 0 1 2 3 4 2 2 0
+ 2 3 4 + 1 2 2 + 1 0 1

Addition of Two 3-digit Numbers (With Regrouping)

We follow the given steps to add two 3-digit numbers with regrouping. Let’
add 548 and 166.
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o Add the given 2-digit n
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+ 3 1 +

o Add the given 2-digit and 3.q;

git nuy
(a) H T 5 mbers,

(b) H T 0

& ST N

2 7 4
+ 1 5
( ( — ( ® 8 7
(c) S (d) H T o
9 7 8 6 7
L) OO
Addition of Two 3-digit Numbers >
Addition of Two 3-digit Numbers (Without Regroupmg) A
Adding two 3-digit numbers is similar to adding two T O %
2-digit numbers. 5 2
Let’s add 526 and 142.
+ 1 4 AN
Step 1: Add the digits at the ones place. Y\ g n
6+2=8 —
H T O ¢
s
5 6
Step 2: Add the digits at the tens place. ) 5
. + 1 \
2+4=6 —
Ve 8)
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